
VB 1 2 E0 E3 E8

0000 0 0 0 0 -3 -8

0001 1 1 1 1 -2 -7

0010 2 2 2 2 -1 -6

0011 3 3 3 3 0 -5

0100 4 4 4 4 1 -4

0101 5 5 5 5 2 -3

0110 6 6 6 6 3 -2

0111 7 7 7 7 4 -1

1000 -0 -7 -8 8 5 0

1001 -1 -6 -7 9 6 1

1010 -2 -5 -6 10 7 2

1011 -3 -4 -5 11 8 3

1100 -4 -3 -4 12 9 4

1101 -5 -2 -3 13 10 5

1110 -6 -1 -2 14 11 6

1111 -7 -0 -1 15 12 7

VB heißt: Vorzeichen-Betrag-Darstellung

1 heißt: Einerkomplement

2 heißt: Zweierkomplement

E0: Exzess-0

E3: Exzess-3

E8: Exzess-8

Bis zum Exzesscode


